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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T E (A5
TEIE R (Fas B
= 1 88, 003, 778
T B AE R R
= 1 78, 613, 236
B B AE R R
= 1 60, 004, 946
HIM3TE 2R 7" AR
ifi 3 18, 907, 260 56, 721, 780
BRI
ifi 3 230, 397 691, 191
5y TN MR R RE B> V)
ifi 5 518, 395 2,591, 975
I PAGRELERE
= 1 391, 310
AF 4T ar " —% (PEHE) | SM3CH & K40km 1Gbps 4 " 1
C31 pomdy
=) 2 195, 655 391, 310
A T BRI E
= 1 18, 216, 980
A T BRI E 140W-24h, ZERHHIR 1 P BB
ERERE, HEEXIR RS
=) 5 3, 643, 396 18, 216, 980
B B AE R R E (RN
Ry 1 0
HLM3TE -l (R ik i) HZEBHICAD
i} 1 0 0
HLM3JE e~ (B i b in) "5 1 C A
i} 1 0 0
T8 B SRR fi
= 1 2,627, 632
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & # T E (A5
18 5 T AR SR A
(CH e 2HAL)
= 1 2,375, 292
FHAES E A
= 1 687, 536
AR E AR HARELEE 2 B <
= 1 1, 687, 756
I PAGELERE
= 1 252, 340
LO00BASE-XA"47x-% (SFP) FATE Mty MEERBEAY ST -2
e 1 252, 340 252, 340
it 75 7T - B A o A R
= 1 6,762,910
RGN AR
= 1 6,510, 570
B RS R A AR
5 1 4,092, 306 4, 092, 306
KRG E BEMR - BEpeEs, 1 PAHAE, EIF
oo EANERET
5 1 2,418, 264 2,418, 264
I PAGELEE
= 1 252, 340
LO00BASE-XA"47x-% (SFP) FATE M-ty MEERBEAY 47 22
e 1 252, 340 252, 340
K[EGHBWZAE (Bt
Ry 1 0
% T DR R A S RSP KA T — 3 v
(ki)
Ry 1 0
Pias HLR R
= 1 88, 003, 778
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T E (A5
T8 HE
= 1 12,112, 346
THRET
= 1 12,112, 346
JH A R i
= 1 12,112, 346
ERIEWMEI 1Rk EE, 702ke, /MWDo X
#% 4 2,334, 150 9, 336, 600
EREWMIORRK TSR (B | &2, 024kg . HER Do X
ARGt BT - e
#% 1 2,775, 746 2, 775, 746
T T
= 1 12,112, 346
(CE35 B IRUI)
= 1 12,112, 346
EAE R
= 1 7,508, 247
T8 FEAE R AR L
= 1 5,818, 101
JE B AE MR R E R E L
= 1 398, 259
8 FEAE M ARG B
i} 3 132, 753 398, 259
I PAGELEE
= 1 16, 676
AT 4T 3= Z PR (
15 H)
= 1 9,810 9,810
AT 4T 3 R—Z PR (
2 & HLABE)
= 1 6, 866 6, 866
-3- EhARimEs R AL A
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T E (A5
B SR B E IR
= 1 264, 955
EA IS BN E PR
(Bft 1)
=) 5 52, 991 264, 955
SCRERRE T 1 B ShE
= 1 208, 270
FRERRE 1 B ShE
H 5 41, 654 208, 270
JE MR R E B L
= 1 415, 446
B G MR AR R HLM3JE
ifi 2 207, 723 415, 446
ol —7 VR T
= 1 1, 261, 490
S —7n (BHEDH SM-4C
m 543 329. 1 178,701
HHZF&Y (B B il
i) 1 23,771 23,771
Y Ar— 7 M A N SM-4C
m 543 253. 1 137, 433
W r— TNy G 577" LA
&0 5 145, 644 728, 220
W — T AR BB KRR 2000 P4 F
718 5 16, 164 80, 820
Nl — T VB GHR ARER 20004
*Fm) 5 22, 509 112, 545
Bi/E - FofR L
= 1 3, 100, 221
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THX Sy - THE - RSB - Bl MoK T B B G AT il T E (A5

B — 7 VE NEC R CV 38sq-3C

m 587 4,108 2,411, 396
B — 7 VE NEC R CV 14sq-3C

m 158 1,972 311,576
B — 7 VE NEC R CV 5.5sq-2C

m 50 1,497 74, 850
B — 7 VE NEC R CV3. 5sq—2C

m 65 1,428 92, 820
WE 7 — 7V N ECRR CVV-S 3.5sq-6C

m 24 1,773 42, 552
E ) — 7 VIERR CV 38sq-3C

&0 1 19, 437 19, 437
WBE A — 7V R CVV-S 3.5sq-6C

&0 1 45, 238 45, 238
JE SR AR S % 628

m 13 2,506 32, 578
JE SR BB AR S % G54

m 11 4,074 44, 814
SRBR &S B G #30

m 1 2, 287 2,287
SRBR] &S B G #50

m 4 4,219 16, 876
Bidl & SR B L=300(SUS) G543

&0 1 5, 797 5, 797

JE PR MR R EEE M E L

= 1 76, 314
JEEAE M RN E CR ) | HL3JE

ifi 1 76, 314 76, 314
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THEX Sy« TH - FERI - HH50 H T B B G AT G| T E (A5
SR E T
= 1 76, 470
BAER(EN F AT
H 2 38, 235 76, 470
T B SRR AR
= 1 124, 541
18 25 T AR 0 A S [ R
= 1 124, 541
AR 3 I R A R
= 1 57,727 57, 727
LR A E AR AR LS B (
B 1)
= 1 29, 494 29, 494
LR S E AR AR 2 5 B L
M (Bhsiia 1)
= 1 20, 644 20, 644
SFPHRATFAE (L4 B )
e 1 9,810 9,810
SFPHE 1R (242 B LLF%)
e 1 6, 866 6, 866
it 7% 73 - B AL A A L
= 1 1,096, 317
% T R R SR R i A 1 L
= 1 33, 526
T RS R A S E A A R (b
Bt 12)
= 1 33, 526 33, 526
RGN E L
= 1 126, 389
[RGB & R A
= 1 109, 713 109, 713
-6 - EhARimEs R AL A
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T (GEEM)
SFPHRATFAE (14 B )
e 1 9,810 9,810
SFPHE 3R (242 B LLF%)
e 1 6, 866 6, 866
B T R R A B R L
= 1 74, 494
AR E RS R (B i 1
)
= 1 37, 247 37, 247
P SO LR R (B 1
)
= 1 37, 247 37, 247
K[REBWRAE & L
= 1 359, 676
RURF TR (B 1)
= 1 192, 272 192, 272
[RGB BB
= 1 167, 404 167, 404
SlLAFERR & T
= 1 266, 694
SlLAFERR & 10-19-3.5, F# 15, A%, D
FREHE T
H 1 266, 694 266, 694
o —7 AT
= 1 224, 949
e —7 (B ED SM-4C
m 175 329. 1 57, 592
Kl —TNEHE (T > 7 Bl
m 23 529. 2 12,171
A — 7 L H A N B AR
m 152 253. 1 38, 471
-7 - EhARimEs R AL A
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THEX Sy« TH - FERI - HH50 MoK T B B G AT G| T (GEEM)
K — TNy B 57-7" LT 43l
&5 1 78, 042 78, 042
W — 7 NAREIR KRR 20000 F
718 1 16, 164 16, 164
Nl — T VB HR ARER 200 LA
1] 1 22, 509 22, 509
Bi/E - FlfR L
= 1 10, 589
B — 7 VE NEC R CV 3.5sq-2C
m 6 1,428 8, 568
B — 7 VE NEC R IV 3.5sq
m 6 336.9 2,021
T S g 1
= 1 188, 798
ik T
= 1 188, 798
ik (AR
= 1 188, 798
% T
= 1 280, 490
RImE T
= 1 280, 490
AR B
A
AH 10 15,213 152, 130
AR B
B
AH 10 12, 836 128, 360
B T HE
= 1 7,508, 247
-8 - EhARimEs R AL A
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
B ST
= 1 1, 690, 037
BTl TE:
= 1 177, 822
Htre m
= 1 61, 709
T R MR EE R R R
= 1 55, 909
EREF G EE AT -IE | xt5dEmE 53k
D% <4
= 1 5, 800
BUGERRYCEE (5 1)
= 1 116, 113
HimE R (FE L)
= 1 1,512,215
Wi
= 1 9,198, 284
BTk X=giiv oy
= 1 5, 308, 295
G E
= 1 7, 104, 850
Hl e R
= 1 431, 539
Pear s R
= 1 6,673,311
(€:rk Y]
= 1 21, 611, 429
R 5]
= 1 33, 723, 775
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
— e
= 1 6,472, 447
TSk
= 1 128, 200, 000
THE B 2 %8
= 1 12, 820, 000
TG
= 1 141, 020, 000
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